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Most Repeated Reasoning Questions for SSC CHSL Tier 1 
 
1. Find the next number in the series: 2, 6, 12, 20, 30 
 
a) 36 
b) 40 
c) 42 
d) 48 
 
Answer: c) 42 
 
2. Find the odd one out: Apple, Banana, Mango, Carrot 
 
a) Apple 
b) Mango 
c) Carrot 
d) Banana 
 
Answer: c) Carrot 
 
3. Complete the analogy: Dog : Puppy :: Cat : ? 
 
a) Cub 
b) Kitten 
c) Calf 
d) Foal 
 
Answer: b) Kitten 
 
4. Coding Question: If CAT = DBU, then DOG = ? 
 
a) EPH 
b) EOG 
c) DPH 
d) FQI 
 
Answer: a) EPH 
 
5. Find the missing number in series: 7, 14, 28, ?, 112 
 
a) 42 
b) 56 
c) 64 
d) 70 
 
Answer: b) 56 
 
6. If all roses are flowers and some flowers are red, are all roses red? 
 
a) Yes 
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b) No 
c) Cannot say 
d) None of these 
 
Answer: b) No 
 
7. Rearrange letters to form a meaningful word: RPAEC 
 
a) CAPER 
b) CRAPE 
c) PEARC 
d) PARCE 
 
Answer: a) CAPER 
 
8. Find the odd number: 3, 7, 11, 15, 20 
 
a) 11 
b) 3 
c) 20 
d) 7 
 
Answer: c) 20 
 
9. Which number replaces the question mark? 2, 6, 12, 20, ? 
 
a) 30 
b) 28 
c) 32 
d) 36 
 
Answer: a) 30 
 
10. Complete the analogy: Pen : Write :: Knife : ? 
 
a) Cut 
b) Chop 
c) Slice 
d) Carve 
 
Answer: a) Cut 
 
11. If 3 + 5 = 15, 2 + 4 = 8, then 6 + 3 = ? 
 
a) 18 
b) 12 
c) 9 
d) 21 
 
Answer: a) 18 
 
12. Which word is a synonym of “Rapid”? 
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a) Slow 
b) Quick 
c) Lazy 
d) Weak 
 
Answer: b) Quick 
 
13. Coding: If A = Z, B = Y, C = X, then M = ? 
 
a) N 
b) O 
c) L 
d) M 
 
Answer: a) N 
 
14. Which figure comes next in the series? (Provide figure in PDF) 
 
a) Figure 1 
b) Figure 2 
c) Figure 3 
d) Figure 4 
 
Answer: (Depends on pattern) 
 
15. Find the missing number: 5, 10, 20, 40, ? 
 
a) 60 
b) 70 
c) 80 
d) 90 
 
Answer: c) 80 
 
16. Find the next number in the series: 1, 4, 9, 16, 25, ? 
a) 30 
b) 36 
c) 35 
d) 40 
Answer: b) 36 
 
17. Find the odd one out: Red, Blue, Green, Circle 
a) Red 
b) Blue 
c) Green 
d) Circle 
Answer: d) Circle 
 
18. Complete the analogy: Bird : Nest :: Bee : ? 
a) Tree 
b) Honey 
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c) Hive 
d) Flower 
Answer: c) Hive 
 
19. Coding Question: If DOG = FQI, then CAT = ? 
a) DBU 
b) EBU 
c) ECV 
d) DCT 
Answer: a) DBU 
 
20. Find the missing number in series: 3, 9, 27, ?, 243 
a) 81 
b) 72 
c) 90 
d) 100 
Answer: a) 81 
 
21. If all cats are animals and some animals are black, are all cats black? 
a) Yes 
b) No 
c) Cannot say 
d) None of these 
Answer: b) No 
 
22. Rearrange letters to form a meaningful word: TARCE 
a) CRATE 
b) TRACE 
c) CATER 
d) All of the above 
Answer: d) All of the above 
 
23. Find the odd number: 2, 4, 6, 9, 8 
a) 2 
b) 4 
c) 9 
d) 8 
Answer: c) 9 
 
24. Which number replaces the question mark? 5, 10, 20, 40, ? 
a) 60 
b) 70 
c) 80 
d) 90 
Answer: c) 80 
 
25. Complete the analogy: Knife : Cut :: Pen : ? 
a) Write 
b) Draw 
c) Scratch 
d) Carve 
Answer: a) Write 
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26. If 2 × 3 = 10, 4 × 5 = 24, then 3 × 6 = ? 
a) 18 
b) 20 
c) 21 
d) 24 
Answer: a) 18 
 
27. Synonym of “Happy”: 
a) Sad 
b) Joyful 
c) Angry 
d) Weak 
Answer: b) Joyful 
 
28. Antonym of “Difficult”: 
a) Hard 
b) Easy 
c) Complex 
d) Tough 
Answer: b) Easy 
 
29. Coding: If A = 1, B = 2, C = 3, then M = ? 
a) 12 
b) 13 
c) 14 
d) 11 
Answer: b) 13 
 
30. Find the next number: 11, 22, 44, 88, ? 
a) 100 
b) 176 
c) 176 
d) 200 
Answer: b) 176 
 
31. Find the next term in the series: 4, 9, 16, 25, ? 
a) 30 
b) 36 
c) 49 
d) 64 
Answer: b) 36 
32. If DELHI is coded as EFMJK, how is MUMBAI coded? 
a) NVNCBJ 
b) NVNCBK 
c) NVMCBJ 
d) NVNCAI 
Answer: a) NVNCBJ 
33. Which of the following is different? 
a) Iron 
b) Gold 
c) Copper 
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d) Wood 
Answer: d) Wood 
34. Complete the analogy: Eye : See :: Ear : ? 
a) Smell 
b) Taste 
c) Hear 
d) Feel 
Answer: c) Hear 
35. If 5 × 4 = 41, 6 × 3 = 39, then 7 × 2 = ? 
a) 36 
b) 38 
c) 40 
d) 42 
Answer: b) 38 
36. Find the odd one: 2, 3, 5, 9, 11 
a) 3 
b) 9 
c) 5 
d) 11 
Answer: b) 9 
37. Which one does not belong to the group? 
a) Square 
b) Circle 
c) Triangle 
d) Rectangle 
Answer: b) Circle 
38. Arrange the words in dictionary order: 
(i) Mango (ii) Apple (iii) Orange (iv) Banana 
a) ii, iv, i, iii 
b) iv, ii, iii, i 
c) ii, iv, iii, i 
d) ii, i, iv, iii 
Answer: a) ii, iv, i, iii 
39. Find the next number: 1, 1, 2, 3, 5, 8, ? 
a) 11 
b) 12 
c) 13 
d) 14 
Answer: c) 13 
40. If TODAY = UPEBZ, then NIGHT = ? 
a) OJHIU 
b) MJHIU 
c) OJHIS 
d) OJHIU 
Answer: d) OJHIU 
41. Complete the series: 3, 6, 18, 72, ? 
a) 288 
b) 144 
c) 216 
d) 324 
Answer: a) 288 
42. Odd one out: Red, Green, Blue, White 
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a) Red 
b) Green 
c) Blue 
d) White 
Answer: d) White 
43. If CAT = 24, DOG = 26, then BAT = ? 
a) 23 
b) 25 
c) 28 
d) 29 
Answer: a) 23 
44. Which word cannot be formed using the letters of "DETAILED"? 
a) DEAL 
b) LEAD 
c) IDEA 
d) DATE 
Answer: c) IDEA 
45. Choose the related number: 12 : 144 :: 8 : ? 
a) 64 
b) 32 
c) 56 
d) 128 
Answer: a) 64 
46. Complete the analogy: Milk : Cow :: Wool : ? 
a) Cotton 
b) Sheep 
c) Goat 
d) Silk 
Answer: b) Sheep 
47. Find the missing term: 1, 4, 9, 16, 25, ? 
a) 30 
b) 35 
c) 36 
d) 49 
Answer: c) 36 
48. Arrange the numbers in ascending order: 45, 54, 35, 53 
a) 35, 45, 53, 54 
b) 35, 45, 54, 53 
c) 45, 35, 54, 53 
d) 35, 54, 45, 53 
Answer: a) 35, 45, 53, 54 
49. Find the odd one: Monday, Friday, Sunday, August 
a) Monday 
b) Friday 
c) Sunday 
d) August 
Answer: d) August 
50. If 15% of a number is 45, find the number. 
a) 200 
b) 250 
c) 300 
d) 350 
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Answer: c) 300 
51. Find the next in series: 8, 16, 32, 64, ? 
a) 96 
b) 128 
c) 256 
d) 512 
Answer: b) 128 
52. Complete the analogy: Book : Read :: Pen : ? 
a) Write 
b) Draw 
c) Print 
d) Ink 
Answer: a) Write 
53. Odd one out: Chair, Table, Bench, Pen 
a) Chair 
b) Table 
c) Pen 
d) Bench 
Answer: c) Pen 
54. If 9 × 3 = 36, 8 × 2 = 24, then 7 × 4 = ? 
a) 35 
b) 28 
c) 30 
d) 36 
Answer: a) 35 
55. Choose the odd one: Car, Bus, Train, Aeroplane 
a) Car 
b) Bus 
c) Train 
d) Aeroplane 
Answer: c) Train 
56. Find the missing number: 2, 5, 10, 17, ? 
a) 24 
b) 26 
c) 28 
d) 30 
Answer: b) 26 
57. If NORTH is coded as OPSUI, then SOUTH is coded as? 
a) TPVUI 
b) TQWUI 
c) TPWUI 
d) TPVUH 
Answer: a) TPVUI 
58. Find the next number: 13, 26, 52, 104, ? 
a) 208 
b) 210 
c) 220 
d) 200 
Answer: a) 208 
59. Complete the analogy: Doctor : Hospital :: Teacher : ? 
a) Office 
b) Classroom 
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c) School 
d) College 
Answer: c) School 
60. Find the odd one out: 64, 81, 125, 144 
a) 81 
b) 125 
c) 64 
d) 144 
Answer: b) 125 
61. If 1 = 5, 2 = 10, 3 = 15, then 4 = ? 
a) 16 
b) 18 
c) 20 
d) 25 
Answer: c) 20 
62. Find the missing number: 5, 10, 20, 40, ? 
a) 60 
b) 70 
c) 80 
d) 100 
Answer: c) 80 
63. If A = 1, B = 2, Z = 26, then CAT = ? 
a) 24 
b) 27 
c) 28 
d) 29 
Answer: c) 28 
64. Odd one: 11, 13, 15, 17, 19 
a) 15 
b) 13 
c) 11 
d) 19 
Answer: a) 15 
65. Find the missing number: 6, 12, 24, 48, ? 
a) 72 
b) 84 
c) 96 
d) 108 
Answer: c) 96 
66. If 7 + 3 = 42, 8 + 2 = 40, then 6 + 4 = ? 
a) 36 
b) 40 
c) 14 
d) 50 
Answer: c) 14 
67. Choose the odd one: Cabbage, Potato, Carrot, Mango 
a) Cabbage 
b) Potato 
c) Mango 
d) Carrot 
Answer: c) Mango 
68. Which one does not belong? 
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a) January 
b) February 
c) July 
d) Monday 
Answer: d) Monday 
69. Rearrange: A, E, I, O, U — which comes first alphabetically? 
a) A 
b) E 
c) I 
d) O 
Answer: a) A 
70. If 12 + 6 = 72, 8 + 4 = 32, then 10 + 5 = ? 
a) 40 
b) 45 
c) 50 
d) 60 
Answer: d) 60 
71. Complete the series: 2, 4, 8, 16, ? 
a) 30 
b) 32 
c) 34 
d) 36 
Answer: b) 32 
72. If FLOWER is coded as GMNWFS, then GARDEN is coded as? 
a) HCUEFO 
b) HBSEFO 
c) ICUFGP 
d) HCTFFO 
Answer: c) ICUFGP 
73. Find the odd one: Lion, Tiger, Leopard, Fox 
a) Tiger 
b) Leopard 
c) Fox 
d) Lion 
Answer: c) Fox 
74. Choose the related number: 3 : 27 :: 4 : ? 
a) 64 
b) 16 
c) 12 
d) 48 
Answer: a) 64 
75. Rearrange the letters to form a meaningful word: PELPA 
a) APPLE 
b) PEALP 
c) LAPEP 
d) PLAEP 
Answer: a) APPLE 
76. If 4 × 3 = 16, 5 × 2 = 25, then 6 × 1 = ? 
a) 36 
b) 29 
c) 30 
d) 31 
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Answer: a) 36 
77. Odd one out: Gold, Silver, Copper, Plastic 
a) Gold 
b) Silver 
c) Plastic 
d) Copper 
Answer: c) Plastic 
78. Which number comes next? 1, 4, 9, 16, 25, ? 
a) 30 
b) 35 
c) 36 
d) 49 
Answer: c) 36 
79. Find the missing term: 3, 9, 27, ? 
a) 54 
b) 72 
c) 81 
d) 90 
Answer: c) 81 
80. Complete the analogy: Finger : Hand :: Toe : ? 
a) Foot 
b) Leg 
c) Arm 
d) Nail 
Answer: a) Foot 
81. If 5 + 5 = 30, 6 + 4 = 30, then 8 + 2 = ? 
a) 20 
b) 30 
c) 32 
d) 40 
Answer: b) 30 
82. Which is the odd pair? 
a) Pen – Write 
b) Knife – Cut 
c) Brush – Paint 
d) Book – Author 
Answer: d) Book – Author 
83. Find the next term: 11, 22, 44, 88, ? 
a) 132 
b) 154 
c) 176 
d) 198 
Answer: c) 176 
84. Find the odd one: 9, 16, 25, 35, 49 
a) 25 
b) 49 
c) 35 
d) 16 
Answer: c) 35 
85. Choose the related word: Hand : Glove :: Foot : ? 
a) Shoe 
b) Sock 
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c) Sandal 
d) Leg 
Answer: a) Shoe 
86. Complete the pattern: 3, 5, 9, 17, ? 
a) 25 
b) 33 
c) 31 
d) 35 
Answer: b) 33  
87. If 6 + 2 = 32, 8 + 4 = 48, then 10 + 3 = ? 
a) 130 
b) 120 
c) 150 
d) 156 
Answer: d) 100  
88. Find the missing number: 11, 22, 33, 44, ? 
a) 55 
b) 66 
c) 77 
d) 88 
Answer: a) 55 
89. Which one is different? 
a) Square 
b) Circle 
c) Cube 
d) Triangle 
Answer: c) Cube 
90. If ALL = 25, BAT = 23, then CAT = ? 
a) 24 
b) 46 
c) 48 
d) 50 
Answer: a) 24 
91. Find the next number: 2, 6, 12, 20, 30, ? 
a) 42 
b) 44 
c) 46 
d) 48 
Answer: a) 42 
92. Complete the analogy: Doctor : Stethoscope :: Soldier : ? 
a) Gun 
b) Helmet 
c) Uniform 
d) Sword 
Answer: a) Gun 
93. Choose the odd one: Rose, Lily, Lotus, Mango 
a) Rose 
b) Lily 
c) Lotus 
d) Mango 
Answer: d) Mango 
94. If TREE = 48, then LEAF = ? 
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a) 40 
b) 36 
c) 24 
d) 30 
Answer: c) 24 
95. Find the next term: 4, 8, 12, 16, ? 
a) 18 
b) 20 
c) 22 
d) 24 
Answer: b) 20 
96. Odd one out: 21, 35, 56, 72 
a) 21 
b) 35 
c) 56 
d) 72 
Answer: d) 72 
97. If 9 × 2 = 36, 8 × 3 = 32, then 7 × 4 = ? 
a) 28 
b) 56 
c) 63 
d) 64 
Answer: a) 28 
98. Find the missing term: 1, 3, 7, 15, 31, ? 
a) 63 
b) 61 
c) 65 
d) 62 
Answer: a) 63 
99. Which word can be made from "TEACHING"? 
a) NIGHT 
b) TIGER 
c) CHAIR 
d) DANCE 
Answer: a) NIGHT 
100. If MONDAY is coded as NPOEAZ, then FRIDAY is coded as? 
a) GSFHBZ 
b) GTHDCZ 
c) GTHDBZ 
d) GTHFCZ 
Answer: a) GSFHBZ 
 


